< 00, > (M)

<o @> (rad)
o
=
a1

o
[N

o
N

=
o
iN

1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)

..............................

o MEFITETITY B (T
¥ T
= 3 A+
@ E -
= R & S O
oE -+
.9

=
o
N

—=#— DQM_CKF_XiMinusNOPU_base

—— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epochO

100r

o -

A o ©
o O O
[TTTTTee

N

20F----

....................................

....................................

...................................

i

R S 1 S N R S N 1 R ¥ R Y I

4 . T+ 4

—~

100

........................................

.......................................

[ay
o
I8

1

1

<opyp, > ()

Ratio

2 3
TPlp?T (PCA tjbobeamliné'f)

-+




	Contents
	Page 1


